7WWC3#’

www.vintageair.com

Condenser Kit with Chrome Drier

Packing Lism

1968-69 Chevrolet Chevelle

(021267)

fNo. Qty. Part No. Description \
1. 1 03767-VUC Condenser, 14” X 24", Parallel Flow
2. 2 07113-VUQ Drier Clamp, Chrome
3. 1 01311-VUQ Drier, Chrome
4. 2 182471 Screw, #10 x 1/2”, Sheet Metal, Stainless Steel
5. 8 18249-VUB Screw, 10-24 x 3/8”, Pan Head
6. 8 18260-VUB Nut, 10-24, with Star Washer
7. 1 18266-VUB Screw, #14 x 3/4”, Sheet Metal
8. 1 18611-VUB Washer, 5/16”, Flat
9. 3 33857-VUF O-ring, #6
10. 1 33858-VUF O-ring, #8
11. 1 35368-VCG Hardline, #6 Drier/Condenser
12. 1 644074 Bracket, Top Mounting
13. 1 644071-FCB Bracket, Bottom Mounting
14. 1 65998-VUB Bracket, 14 %4”, Universal Drier
15. 1 091175 Hardline, #6 Drier/Core
16. 1 091177 Hardline, #8 Condenser/Compressor
17. 1 11079-VUS Binary Switch, Male
18. 1 23135-VUw Compressor Lead
19. 1 33134-VUl Grommet, 3/8” x 1/2”, 2-Hole
20. 1 901367 Instruction, 1968-69 Chevelle Condenser Kit with Drier
Checked By:
Packed By:
\ Date: )

g/!g o) 0

NOTE: Images may not depict actual parts and quantities.
Refer to packing list for actual parts and quantities.

-

' O
O

901267 REV B 10/26/23, PG 1 OF 1



